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1. Mr Gifford has 282,519 photos on his camera. His sister has 632,649. How many more photos does Mr Gifford’s sister have?

2. Samantha has 438,670 DVDs in her collection. Tara has 234,548. How many DVDs do they have together?

3. In an endurance race, George ran 366,264m. The winner ran 406,938m. How much further was the winning distance?

4. Sam the giant ate 481,930 people. His dad ate 620,784 people. How many more people did his dad eat?

5. In January, 1,470,306 people visit the swimming pool. In June the number of visitors increases by 1,742,465. How many people visit in June? 

6. On Monday, one million, four hundred and fifty two thousand six hundred and two people watched a football match on TV. On Wednesday, two million, eight hundred and ninety six thousand two hundred and eighty nine people watched a football match on TV. How many people watched the two games?

7. A brand new Ferrari costs £1,180,205. In the sale, the price is reduced by £209,890. What is the new price of the Ferrari?  

8. A farm in Australia has 3,548,205 sheep, 1,709,878 cows and 11 dogs. How many animals are there in total? 

9. What is the sum of 4,332,892 and 3,769,247? 

10.  There are 3,882,675 West Ham fans in the world and 9,920,249 Liverpool supporters in the world. What is the total number of West Ham and Liverpool fans in the world? 

11.  In 2011 there were 6,470,920 visitors to a theme park. In 2012 the number of visitors declined by 2,847,936. How many visitors were there in 2012?

12.  Subtract 12,825,087 by 8,596,729. 

13.  In 1955, Tokyo, Japan had an estimated population of 8,823,000. In 2010, the estimated population was 26,444,561. How many more people lived in Tokyo in 2010 than in 1955?

14.  There are 36,570,818 video DVDs in the Netflix factory. 11,630,999 are audio DVDs. Find the total number of DVDs in the Netflix factory.

15.  Clara withdrew £12,670,889 from her account in order to buy a lot of shoes. The initial amount in her account was £96,832,790. Find the balance left after the withdrawal.

16.  Cathy scored 20,000,000 points on level 2 in a video game. She then scored 12,530,547 points on level 3. How many points did she score in level 2 and 3?

17.  Ben bought a Bugatti Veyron for £11,068,086. The estimated value of the car after 5 years is £6,500,990. If he sells the car after 5 years, how much less money would she have?

18.  What is the difference between the smallest 8-digit whole number and the greatest 7-digit whole number?



